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@84 aigeq &S A6 g4Q RYIe JOIRE

Carefully follow the instructions given in each Group

geoYe GRTER gea Ageedqey J9e AEe /PR @Q
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GROUP—A

a—aaUe

Answer all questions serially
QAIQHEa AAg dae Qea &

1. Write the correct answer choosing from the

alternatives given in each question :

1x15=15

gesie Jgaea gea aeggee aug a0 e

QIR 69 :
(a) The demand for complementary goods is

/366-D

also known as

Jggee Q9Ia ©IEQ e 6] oLl

RKALEQ V€7
(i) joint demand
g9 ©1Lql

(i) direct demand
gy QIgRa!

(iii) indirect demand
qeQUT LI

(iv) cross demand

21Q6Re <X
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(b)

(c)

(d)

/366-D

In case of perfectly inelastic demand,
the demand curve becomes

Qfd 2PPQIAR QITQ 6VEEQ SR2IAT
@AQ €97

(i) downward sloping / @€l

(ii) upward sloping / @‘@Gﬂ?ﬂ

(iii) horizontal / 2

(iv) vertical / Ymel

In case of perfectly elastic demand, the
value of ‘elasticity of demand’ is

agq Jogiae oRQl gew  ‘o@ql
dogiaecel’a qay 62
(i) one / 9@
(i) zero [/ g%
(iii) less than one / 9@ Ol @¢]
(iv) infinite / 241¢

When marginal product increases, total
product

66Q6Q6R Qe Qe QF  ag,
6960ER6R 6919 QAL
(i) decreases
LA A

({ Turn Over )
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(i) remains constant

da Q6w

(ili) increases at an increasing rate

QA VAR QAER &/ A

(iv) neither increases nor decreases

QI Q6R ' @6

(e) Average Cost (AC) = Marginal Cost (MC)

/366-D

when

RUACIR ageyg = Qe AL

6ECERER
(i) AC is maximum
QIAILIR TG AR
(i} AC is minimum
QLG AN ALY
(iti) AC is zero
ALY Ay gL

(iv) None of the above

QUealy 6XadT Qew
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() There are large number of buyers and
sellers in

6RQ ARINER TYR A°HIICR €8Sl B F6q6!
6RYQIg FieR?

(i) perfect competition
Aggl Qo6

(i) monopoly
RSN S

(iit) oligopoly
2RIV

(iv) None of the above

QACAUY 6RNEAT Q6L

(g) The book The General Theory of Employ-
ment, Interest and Money was written by

The General Theory of Employment,
Interest and Money Q4eQ QLG 62Q8%

(i) Alfred Marshall / 2IRETS AIER
(i) J. M. Keynes / 68. 9¢|. 6QQ9
(i) Adam Smith / 21QIq &
(iv) David Ricardo / éeﬁq aqlee!
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(h) Average Propensity to Consume (APC) =7
AT QARG ge& (APC) = ?
.. Consumption expenditure (C)
(i)
Income (Y)
QUEKNIG QYL
AL

Saving (S)

Income (Y)
123539
ET=Y
Change in consumption expenditure (AC)
Change in income (AY)
Q&G QA6 ML

QE Y
(iv)] None of the above / QUERIY 6FEIT g6«

(iti)

(i) Which bank in India is called as ‘lender
of last resort™

QIQAOER 6QQ ANITR ‘AUTA QGG QRIAIN ?
ii Commercial bank
QUITIR MIe
(i) The Reserve Bank of India (RBI)
QR AR NS
(iiij) Agricultural bank
Q8 QuIe
(iv) Industrial bank
AeMITR NI
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() In surplus budget
QR QERGER

(Y total income of the government is
greater than total expenditure

dARNAS 219 AACUS YL AQFNE-
olQ 2y

(ii) total income of the government =
total expenditure

AARIAT g eﬁﬂla% AARNAS
LA AQAAE

(i) total income of the government <
total expenditure

AQRAT 2GR AQGUS < AARNQAET
ML A '

(iv] None of the above

QACAUY 6RNOTS Q6w

(k) Who defined Economics as a ‘science of
wealth™?

204Ig 9@ ‘QAe IR 9@ Q8 &9
cQQYem ?
(i Alfred Marshall / 2IR6TE AlER
(i) Adam Smith / 2iQlf J&
(iii) Lionel Robbins / RBEAR 29
(iv) None of them / QUEAIg 64T Q6%
/366-D ( Turn Over )
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(1)

(m)

/366-D

( 8 )

The desire to have a commodity or

service is called

OB QQY @ 6QQ! AIRFQ QRIY @'¢

QRIAIN?

(1) utility
QACAITIC!

(i) want
2XUQ

(iti) goods
QLY

(iv}] None of the above
QACRUY 6FNETT Q6L

The goods which satisfy human wants

directly are called

692 QY gous QLR AINIIA ANQ Y&

@6 IRl cEml

(i) consumer goods
SRS Q<Y

(ii) producer goods
QIR @

(iii) public goods
QRIS Y

(iv) intermediate goods
eqen Q@
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(9 )

(m) By making a table, a carpenter creates
6P1ATY TR QG ERAT 6@Q AAEAITS!
Q¥ Q6Q?
(i) time utility
QRIS QACAITQ!
(i) form utility
210 QUK
(iii) place utility
dIfAe QA6edIGel
(iv) service utility

6AQTEC QACAIGSI

(o) The marginal utility curve is

QRIS QAEAITS! 6T 62aR

(i) upward sloping
aFaliel

(ii) downward sloping
e lia

(iii} vertical
YmL

(iv) horizontal
219K
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2. Examine the correctness of the following
statements. Correct only the incorrect
statements without changing the
underlined portions : 1x15=15

FARYe 2BIFRa A0 QT FQ! 689 YA
RBYPRA CAGIFE 28 afeas f @Q A sarIe
@

{a) In case of perfectly elastic demand,
the value of price elasticity of demand
is equal to zero.

aged gogiae Q@9 6986k  QIEQl
gogIaecIq gay ge g3

(b) The change in quantity demanded occurs
only due to change in income.

QIZQIQ JACCER UAEE 69K 2
aaeae AR g9l

(c) The functional relationship . between
inputs and outputs is called
consumption function.

aRle 6 Qe Uea 29l ARG
QUACAT TRQ QRIANI

(d) Labour is a fixed factor.
g 69T da QaIQie|
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(e)

(9)

(h)

)

G

/366-D

( 11 )

Economic cost is explicit cost plus

average cost.

2LCTOR AT 6298 gRIY 99Ig IS

QIAULIA AL

The shape of short-run average cost curve
is horizontal.

QERIREQ VISR ABUA Sl 2AIFE
g9

Under monopoly, Average Revenue (AR) =
Marginal Revenue (MR).

\*19919?11 RUNARIQ (N YRNRIKFNR)EQ AL
2i1g = qiqaie 2Ll

Macroeconomics is a study of individual
economic units.

Aad 22918 PG 2916000 IedIew
oI 263!

Gross Domestic Product at market price
(GDPyp) is equal to GDPgc + Net Indirect

Tax.
QTIQ ACQ 67 WEAR VYW (GDPypsp)

QAIYe YAEQ 651C WERAR QAR (GDPg()
+ ¢ aeIE @ 42 Ael

At the equilibrium level of income,
saving is greater than investment (S>I).

AZRe 21D gREQ Q89 FEE0IQ ANw
6RInaAIN

{ Turn.Over )
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(k)

()

(m)

(n)

(o)

( 12 )

Commercial bank enjoys the mrmupﬂl}’
power of note issue.

QERR G‘LIIG‘ 6R'%! QQG’G‘GQ ﬂﬁ?ldﬁﬁl_@*
S QACKNNG QEQ

Surplus budget is more effcctive to
control dcflation.

ZRQIE Q0Rd dIR 9wl Q6RE 2R
Tegal https://www.odishaboard.com

Resources of a country to produce goods
and services are unlimited.

QY 9G° 6QQ QYR U 66T 6PIQ
QR AQIE 21Qial

Consumption is the destruction of utility.
QUERIC RUCIITRIQ &)°A 26

Public goods are available in the market.
QYR QRIACR YWAMG |

GrROUP—B
H—QRUG

Answer any eleven of the following questions

within 2 to 3 sentences each :

geaie 6agea 98 Q AT QAR AUEQ FIREe
geAIeE Qg 6J6RIOd IAIOE g9a e @2 :

(a)

/366-D

Define elasticity of demand.
QIERIQ FOgIaecia a°®l IR @l

( Continued )
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( 13 ) ( 14 )

(b) What is marginal utility? ' (k) Write down the types of budget.
QB QAEATSI @'&1? QLEFRTR dRIACND MGl |
(c) What do you mean by production? Write ()  What is place utility?

the factors of production.
QUIR QEER  @E QY? Qe
QAINFYER SRSt

JIRGE QAT @'&§°?

{(m} What do you mean by economic goods?
PIOICRRR QY QREM QA @4 QU?
(d) What is short-run total cost?

o oG ' (n) What do you mean by change in demand?
gl 6%l QI @ €7

QIRQIQ JRAR RWEM QEF /'8 Q7
(e) What is marginal revenue?

QIR g @67 4. Distinguish between any six of the following.
. Answer the questions within 6 sentences

(f) Write any four features of perfect each - Ix6=18
competition. o . _~ . .
qd gfeaiGen casdlad SBeaIT eaagy PQRe AUg 6AcRleq guca Qldet gl
el J6Ie dga e 96 Qaiea diFle Q6

(99 What do you mean by short period? (@) Value and Price
IR RLEM Q@'¢ E? gad 6 99

(h) What is personal disposable income? (b) Money costs and Real costs
QUGOIe YRy G @7 Jeide daig G QUGS AL

(i) What is macroeconomics? (c) Average revenue and Marginal revenue
Qad 29916 @67 QLT 219 6 B 2K

() What do you mean by money proper? (d) Perfect competition and Monopoly
Qg QI QLM Q67 @8 QY7 Q4 9%eaItiol 8 RN
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(e)

(g)

()

( 15 )

Gross Domestic Product (GDP) and
Gross National Product (GNP)

6FlG AEAR QT B 67IF RIVIG QUL

Demand or Current deposits and Time
or Fixed deposits

QIEQI Q¢ Q@ eRE «al 6 dae! e@al <
g 4l :

Primary functions of money and
Secondary functions of money

gele giide @dy 6 Qe acqg (<
eag) QLY

Intermediate goods and Final goods

21091 QY B AR QN

GroOuUP—C
—aRIE

Answer any four of the following questions :

7%2x4=30

GofRge aug cAeNad SIERIT gaa Qe 2 :

5. Discuss the functions of commercial banks.

QETIe IEa QDI AR [l

/366-D
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( 16 )

Discuss Lionel Robbins’ scarcity definition of
Economics.

ABEAR QeeAs ge@ NP Ecl U8l
2IERIPRl QA

What is price elasticity of demand? Explain
the factors affecting it.

QA QIEQIQ FPogiaeel X'E? 9Lg Jeee
@Rl RIVNYER gl

Explain the law of diminishing marginal
utility. Point out the limitations of the law.

QERIFAIR QIFI8 QAT 98T eIl YL
QARG Q42|

Explain the law of supply. What are its
exceptions?

6AIGNS I8 QUITY QA ILIQ MOFAYLR @'&1?
Explain how price is determined under perfect
competition.

gd g%eaIgl QFINce @@ FAR BRIGe ¢9
g
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